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1. Find the value of a such that lii% _@_—%8__2_ = —15—2 Answer :
T

2. The coordinates of a particle in the zy-plane are differentiable functions of time ¢ with
dz/dt = —1 m/sec and dy/dt = —5 m/sec. How fast is particle’s distance form the origin
changing as it passes through the point (5, 12)? Answer :

3. What is the value of the definite integral dz? Answer :

1
T
/o v4 + 5z
$2 .
4. Find f(4) if / f(t)dt = zcosmz. Answer :
0

5. Find the length of the curve y = / ‘Veos2tdt 0<z<w/4. Answer:
0

]
6. Evaluate / —ngdx. Answer :
J1

7. Fmd a Value for the constant b that will make the radius of convergence of the power

Answer : / \\
J,, kY] X

. \ li
sin zy, if 2y £ 0 | / “M
8. Find the value of a that make f(z,y) = zy continuous on R? iy \\

a, if zy = 0. /f?‘f} .
Answer : \ ; x
; : - . 2 4,2 /"

9. Find the area of the region R in the zy-plane enclosed by the circle z* + y* + 4, above s:? P

the line y = 1, and below the line y = v/3z.  Answer :

10. Let f(z,vy) = 2% — zy + y? — y. Find the direction u for which D, f(1, 1) = 4.

Answer :
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1. Find the highest and lowest points on the curve z2 + oy + y*> = 12.

2. (a) If F(z,y)= z°1 + ¥?j, find a function f such that F = V.

(b) Evaluate the line integral / F . dr, where C is the arc of the parabola y = 2z% from
c

(—1,2) to (2,8).




